2012 Business Studies

Question 7

In winter, the number of beach lifeguards employed by a local council is reduced.

What has influenced the transformation process in this situation?

A + Variation in demand
B X Variation in visibility
C X Variety
D X Volume

HSC Statistics on this Question:
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, Cand D. N is
used to identify: No valid response.
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